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Instructions to Contestants:
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There are 20 questions in this paper and the total score is 100.
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Unless otherwise stated, all numbers in this paper are in decimal system.

3. f{’%g | EAT;%JF—T ﬂ_o Z 9999 I/ F'Eﬂpe;gz‘g'( ( ﬁ,j;rﬁ 0 F[1 9999) - ,'ja% ﬁﬁjﬁj—gmfﬁifg%ﬁ
% HIHTFEHER

All answers are integers between 0 and 9999 (including 0 and 9999). Follow the instructions

on the answer sheet to enter the answers. You are not required to hand in your steps of working.
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The use of calculators is not allowed.
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The diagrams in this paper are not necessarily drawn to scale.
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What is the remainder when 123456789 is divided by 18?
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Find the area of the quadrilateral in the figure. 4
(Round off the answer to the nearest integer if

necessary.) 6
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What is the least number of integers that must be chosen from 1, 2, ..., 100 to
ensure that we must be able to find two of the chosen integers with the same unit
digit?
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Let n be a positive multiple of 2007. When # is multiplied by 2007, the product has
unit digit is 8. When 7 is divided by 2007, what is the unit digit of the quotient?
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How many different real roots are there for the equation x* =5x° +36x ?
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Four people joined a competition. Both their mean and median scores are 80, while

the lowest score among them is 64. What is the highest score among them?
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Let [x] denote the greatest integer not exceeding x. For example, [1.1] =1, [6.9] =
6 and [5] = 5. Find the value of [log1]+[log2]+[log3]+---+[log100].

(253)
(2 marks)

(353)

(3 marks)

(353)

(3 marks)

(353)

(3 marks)

(353)
(3 marks)

(353)

(3 marks)

(453)

(4 marks)
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In a certain school, there are n students in Secondary 4A, where 1<n<45. The
class constructed a pie chart entitled ‘The favourite subject of 4A students’. The

sector representing ‘English’ has an angle of 15°. Find n.
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In a theme park, a ticket for adults, elderly and children costs $295, $170 and $210
respectively. The park offers a 10% discount on a one-time purchase of exactly 24
tickets. If someone needs 10 tickets for adults, 10 tickets for elderly and 26 tickets
for children, what is the minimum amount (in dollars) that he has to pay?
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A day is said to be ‘good’ if the product of the ‘month’ and the ‘day’ is a
composite number. For example, since 1x27 =27 and 27 is a composite number,
we say that 27th January is a ‘good day’. How many ‘good days’ are there in the
year 2007?

= IR 12 [P TS RNk ORSER S - R
T K [RE -

A quadrant of a circle of radius 12 can be rolled into a conic container of capacity

k7 . Find the integer closest to k.
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find the value of a+5.
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(453)

(4 marks)

(553)

(5 marks)

(573)

(5 marks)

(553)

(5 marks)

(673)

(6 marks)
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In a triangle, two sides have equal lengths and are both shorter than the third side.
The lengths of the three sides are all integers and all satisfy the equation

x> —127x+k =0, where k is a constant. Find the smallest possible value of k.
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When Sam was born, his father was n years old, where 25 <n <40. From the year
Sam was born until his father died at the age of 80 (inclusive), there were exactly
two years in which the age of Sam’s father is a multiple of the age of Sam. Find the

sum of all possible values of n.
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Let [x] denote the greatest integer not exceeding x. For example, [1.1] = 1, [6.9] =
6 and [5] =5.If [2y]=5 and [3y] =7, find the sum of all possible values of [10y].
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In a city, citizens are required to pay 5% of the original price of goods as sales tax
during purchase. After purchase, Mr Wong discovered that both the original price
and the price after tax of the goods (in dollars) are integers. They have the same
digits but in different orders. Given that the original price of the goods is between
1000 dollars and 4000 dollars, find the original price of the goods in dollars.
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(6 marks)

(653)
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(653)
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(753)

(7 marks)



17. R T abed fOPIEEES D PSS TR a>b ~ b<e Al e>d o

18.

19.

PIFEES TR o HCE 2 Dl T, 2

A four-digit positive integer abcd is said to be a ‘wave number’ if its four digits are

pairwise distinct and satisfy a >b, b<c and ¢ >d. How many ‘wave numbers’

are there?
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In the figure, AABC is right-angled at B with
AB =28 and BC =21. The semicircle has its
diameter lying on AC and is tangent to both AB
and BC. The small circle is tangent to AB, BC
and the semicircle. It is known that the radius
of the small circle can be written in the form
a+b\/§ , where a and b are integers. Find the

value of a’ +b°.
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In the addition shown, each letter represents a different

integer from 1 to 9. Find the four-digit number represented

by DEFG.
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(753)
(7 marks)
(753)
C
(7 marks)
ABC
ACB (753)
B AC
BCA
CAB
CBA (7 marks)
EFG
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Someone wrote down a three-digit number N and five others made some guesses
on the value of N.

A said, ‘N is divisible by 27.’

B said, ‘N is divisible by 11.’

C said, “The sum of the digits of Nis 15.’

D said, ‘N is a square number.’
E said, ‘N is a factor of 648000.’

It is known that among the five guesses, three were correct and two were wrong.
Find N. (8 marks)
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